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120 ¥A;TAHT 1 255
130 #&FHT 0 397
140 EAERT 0 10
150 & FFrHET 0 340
9999 K IFHXET 4 4305
510 RETIHT B 1 433
520 HEEEHT 0 159
530 /\T&HET 1 255
540 15 = HT 0 443
550 FithET 1 369
560 =ZEMT 0 69
570 EEHT 0 69
580 ¥TEAHET 0 137
590 ¥ ;EHT 0 67
600 ZERET 1 679
610 FHT 0 169
620 ¥EET—TH 0 0
9999 /\ & X5t 4 2849
1010 3 A HT 0 217
1020 £ FHT 0 363
1030 o FrHET 0 338
1040 74 FrHT 0 552
1050 £ HAHET 1 669
1060 F _EHT 1 550
1070 #y[RHET 0 670
1080 &= FHHET 0 447
1090 HEHT 1 700
1100 L BEHT 1 591
1110 {2 1EHT 0 158
1120 $21E JTHT 1 79
1130 +4&HT 0 27
1140 FkJRHET 0 16
1150 F/RET—T B 1 224
1160 F/RETZT B 0 249
1170 ;&/KHET 0 176
1180 EE&FLHET 2 242
1190 #&FAHT 0 195
1200 XFHEI—TH 0 141
1210 XFHEIZTH 0 174
1220 $HET 0 159
1230 %KHET 0 174
1240 B EHT 0 125
1250 fEEHET 0 143
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1260 JEHR & 1 42
1270 = EHT 0 114
1280 FRAHET 0 152
1290 £RHT 2 181
1300 & ZEHRT 0 137
1310 RJLHT 1 90
9999 XH X ET 12 8095
1510 B4 BT 0 826
1520 }EHI T HET 0 773
1530 HEHTHET 0 339
1540 K{23FHT 0 587
9999 HEMMRE X ET 0 2525
2010 £ ERAT 0 200
2020 % &7l 0 312
2030 ;AT 0 20
2040 ;HET—T B 2 215
2050 ;ET=T H 0 222
2060 Hg1F 0 50
2070 +RET—TH 0 272
2080 +ETZTH 0 209
2090 AT 0 1900
2100 fhiLHET 0 271
2110 }EWETET—T B 0 258
2120 HEMIETETZT B 0 293
9999 ZERXET 2 4222
2510 #AUEET 2 2321
2520 sk EEHT 2 1486
2530 = /NRHET 0 391
2540 FHi5HT 0 477
2550 ;HHET 1 266
2560 = SHT 1 1017
2570 KEHT 0 96
9999 MERXET 6 6054
3010 K#THT 0 1055
3020 ;T HT 0 1020
3030 L EFHT 1 872
3040 B LHET 1 145
3050 BT 2 2260
3060 B THT 0 518
3070 THESEHT 0 533
3080 HHHHT 0 508
3090 HHEHT 0 477
3100 HhFaHET 0 524
3110 EHAILHET 1 492
9999 /\FiE& X &t 5 8404
3510 2R LHT 0 204
3520 R chf 1 406
3530 2R THT 1 1060
3540 &= B KHT 1 430
3550 AETHT 0 871
3560 = T ERAT 0 311
3570 = T FaMT 0 855
3580 FLIFTHT 0 533
3590 EHT 0 16
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9999 S HKXET 3 4686
4010 41| BT 0 344
4020 {ESHT 1 93
4030 5HT 1 262
4040 = HEAHT 1 263
4050 7K /T 1 531
4060 ESZ FHHAT 1 408
4070 Jt/RHET 1 209
4080 =;I;HAMT 0 252
4090 FRERHT 0 345
4100 Fg<FEFOET 0 147
4110 Jt FFET 0 185
9999 &M X5 6 3039
4510 AREE—ZHT 0 780
4520 EREE — ZEHT 1 210
4530 EREE=FEHT 0 206
4540 EREEIUZEHET 0 161
4550 EREE L FHT 0 121
4560 EREE/NEEHET 0 100
4570 EREE-HFHET 0 173
4580 EREE)\ZHET 0 103
4590 EREE N FEHT 0 172
4600 EREE-+ZEHET 0 218
4610 EREE+—ZFHET 0 262
4620 AR+ —ZBHET 0 368
9999 FRERXET 1 2874
5010 FAFNH HEHT 0 248
5020 HAF0BAEMET 0 229
5030 FRFNRI{ZHT 0 266
9999 MAFIRXET 0 743
5510 b R HET 1 236
5520 = HhHET 0 671
5530 FA= HT 1 522
5540 MY 0 287
5550 EEHT 0 69
9999 =R X 5t 2 1785
6010 [EIAT/ME& 0 110
6020 [z ET 5 0 127
6030 RGBT A I 0 107
6040 EiZEFHET 0 231
6050 JI|AMBTE 0 163
6060 JI|EHATFE 2 133
9999 REERXET 2 871
6510 B & AHBHET 0 27
6520 HZEAKIEHET 0 223
6530 HE AFTHHET 0 103
6540 HZEAILTHT 0 201
6550 B =AM Z NHET 0 107
6560 HRAIEILHT 0 145
6570 B E ALERIHET 1 157
6580 H&EAEHT 0 95
6590 HZE ATKHET 1 62
6600 B &= AHHT 0 90
6610 HEA L FGHT 0 52
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6620 HZE A FGHET 0 59
6630 HZEA T AT 0 99
6640 B & A EiHlT 0 34
6650 B &= ASRHT 0 2
6660 H Z A RLHET 0 33
9999 HEAKKET 2 1489
7010 — &M O ET 0 181
7020 — R AHT 0 257
7030 — R FRHNET 1 114
7040 — R T KEFHET 1 232
7050 — R ¥7 H I HET 0 126
9999 — R&XEtT 2 910
8011 JRAHTFEERL 0 71
8012 YR AHTFEERA 0 152
8013 JRAHRTFAERIL 0 88
8021 HRAHTZEKLY 0 87
8022 IR AHTIEKA 0 4
8023 R AHETEKIE 0 10
8031 FRAETH ALY 1 190
8032 JABTHAA 0 12
8033 IRAHTH AL 0 16
8041 IR AHTELIFZL 0 63
8042 IR AHTELIRA 1 30
8043 R AHET LRI 0 19
8044 M ARETHLIFIZ 0 34
8045 IR ABTELIF T 0 52
8050 IR AHT IR A 1 177
8060 IR AHTFT# 0 147
8070 JRAHBTER 0 151
8080 Ir AHT &k 0 62
8090 IR AHTHEE 0 48
8100 JRAHETH /1% 0 26
8110 IRAHT I 5k 0 57
8120 IR AHTEE"S 1 100
8130 JRAHTH L 0 96
8140 IRABTEERT 0 144
8150 IRAHTHFK L 0 90
9999 AKX ET 4 1926
9010 FTHTAKEH 3 662
9020 FTHTEFER 0 417
9030 FTHTH &£ H 2 1257
9040 F+THTHEH 2 1493
9999 FTH#XEt 7 3829
9110 SERT T HIE 0 602
9120 $EETH L 0 288
9130 $EHTH & 0 152
9140 SERT T4 0 469
9150 $EET L 55 1 539
9160 SEETERHT 2 823
9170 $RATNEA 1 1007
9180 #RHTERE 0 672
9190 $EHTZ O 0 249
9200 FEHETEFIF 1 238
9210 $RAT = H 0 415
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9220 $RHTHE H 2 653
9230 ST B M 0 720
9240 SEETIE K 0 285
9250 FEETALHith 0 704
9999 R X &t 7 7816
9310 E[FZHETANR 0 226
9320 HIGHATIL 0 263
9330 FR[ZHET/INE 0 167
9340 R [ZHTRY 3 443
9999 RFHXET 3 1099
9410 RET T & 1 422
9420 RHETHHE 0 227
9430 RETEXR 0 157
9440 RETAEF 0 11
9450 RETHER 0 22
9460 RET{—_HE 0 32
9470 RETER 0 7
9480 RHETHEAR 0 59
9999 RIXXET 1 937
99999 H& St 73 68458



